






In a certain code language, 

Indian , GO , Heroes  is written as  @@ ,  #@ , @#

What is the code for ‘CAR’

A. @@
B. @@
C. #@
D. #%



Find the option which should replace (?)

CAT = 8
DEAF = 4
FED = ?

A. 5
B. 6
C. 15
D. 10



Find the option which should replace (?)

2353 : 30 :: 4215 :  ?

A. 30
B. 32
C. 35
D. 39



Find the odd one out(?)

A. ( 0 , 1 )

B. ( 2 , 3 )

C. ( 3, 8 )

D. ( 4 , 27 )



Find the option which should replace (?)

A. 5
B. 7
C. 0
D. 3

3 8 10 2 ? 1

6 56 90 2 20 0



Find the odd one out(?)

A. 2047

B. 4702

C. 6041

D. 4306



Rahul is the husband of my father’s granddaughter , so I am 
Rahul’s :-
राहुल मेरे पिता की िोती/नवासी का िपत है, इसपलए मैं राहुल
का:

A. Father – in – law
B. Mother- in -law
C. Either A or b
D. Brother- in - Law



Find  the number of triangle (?)

(A) 18

(B) 16

(C) 20
(D) 22 



Find the missing term(?)

Water : Tawre :: Grain : ?

(A) Grain

(B) Nagri

(C) Argni

(D) Argin 



Find the missing term(?)

562 : 388 :: 654 : ?

(A) 581

(B) 587

(C) 579

(D) 893



Find the missing term(?)

NIGERIA  :  5975991

GINGER :  ?

(A) 797595

(B) 795759

(C) 797559

(D) 795795



Find the missing term(?)

11 : 5 :: 17 : ?

(A) 6

(B) 8

(C) 10

(D) 12



Find the missing term(?)

5 : 21 :: 7 : ?

(A) 25

(B) 49

(C) 43

(D) 30



Find the missing term(?)

30 : 16 :: 102 : ?

(A) 49

(B) 52

(C) 61
(D) 98



Find the option which should replace (?)

AF : 9 :: AA : 4 :: AE  

A. 10
B. 15
C. 9
D. 12



Find the option which should replace (?)

16 : 124  :: 11 : ?

(A) 88

(B) 86

(C) 24
(D) 22



Find the option which should replace (?)
324 + 289 = 35

441 + 484 =  43

625 + 400 = 45

256 + 729 = ?

(A) 29

(B) 43

(C) 40

(D) 37



Find the option which should replace (?)

16 : 74 :: ? : 164

(A) 16

(B) 12

(C) 19

(D) 18 



Find the option which should replace (?)

6 @ 4 @ 3 = 29

3 @ 8 @ 7 = 338

9 @ 8 @ 2 = ?

(A) 8

(B) 9

(C) 56
(D) 165



Find number of triangle in given figure ?
पिभुज की संख्या ज्ञात कीपजये?

(A) 32 (B) 27

(C) 41 (D) 37


